Sz(z=0)= 20e-3

Sz(z=0.1)= 20.368316e-3

Sz(z=0.2)= 20.932177e-3

Sz(z=0.3)= 21.702115e-3

Sz(z=0.4)= 22.692512e-3

Sz(z=0.5)= 23.921868e-3

Sz(z=0.6)= 25.413147e-3

Sz(z=0.7)= 27.194206e-3

Sz(z=0.8)= 29.298315e-3

Sz(z=0.9)= 31.764777e-3

Sz(z=1)= 34.639665e-3

Sz(z=1.1)= 37.97668e-3

Sz(z=1.2)= 41.838157e-3

Sz(z=1.3)= 46.296227e-3

Sz(z=1.4)= 51.434166e-3

Sz(z=1.5)= 57.347946e-3

Sz(z=1.6)= 64.148037e-3

Sz(z=1.7)= 71.961461e-3

Sz(z=1.8)= 80.93417e-3

Sz(z=1.9)= 91.233771e-3

Sz(z=2)= 0.103053

Sz(z=2.1)= 0.116612

Sz(z=2.2)= 0.132164

Sz(z=2.3)= 0.15

